8-Ball Sudden Death Scenarios

Sudden Death: 2 points for the first rack and 1 point for the second rack.

Match Team A Team B * Team A wins the match due to 8 match points
1 2 1 2-1 No 5th match or Sudden Death needed
2 2 1 4-2
3 2 1 6-3
4 2 1 8-4
5
Match Team A Team B * Team A wins the match since they are 4 points ahead
1 2 1 2-1 No 5th match needed
2 1 2 3-3
3 2 0 5-3
4 2 0 7-3
5
Match Team A Team B * Team A wins the match since they are 3 points ahead
1 2 1 2-1 and have won 3 matches.
2 1 2 3-3 No 5th match needed
3 2 1 5-4
4 2 0 7-4
5 - -
Match Team A Team B * Team B wins the match due to winning both Sudden Death racks
1 3 0 3-0 and have won 3 individual matches.
2 1 2 4-2
3 0 2 4-4
4 3 0 7-4
5 0 3 SD
Match Team A Team B * Team B wins the match since they won the first Sudden Death
1 2 1 2-1 rack making it 7-6 and have won 3 individual matches. Team A
2 1 2 3-3 can at best tie 7-7 but they would lose the tie breaker; therefore,
3 1 2 4-5 no second tie breaker game needed.
4 2 0 6-5
5 - 2 SD
Match Team A Team B * Team A wins the match by earning 8 match points
1 2 1 2-1 (2 points from the first SD rack).
2 2 1 4-2 The second rack of SD is not needed.
3 2 1 6-3
4 0 2 6-5
5 2 - SD
Match Team A Team B * Team B wins the match since they won the first Sudden Death
1 2 0 2-0 rack, making it 6-4. No second rack is needed
2 0 2 2-2 since the 1 point will not change the outcome.
3 0 2 2-4
4 2 0 4-4
5 - 2 SD
Match Team A Team B * Team B tied the match by winning the first Sudden Death rack
1 2 0 2-0 forcing a second SD rack. The winner of the second
2 1 2 3-2 rack wins the match. In this case, Team A wins 7-6.
3 1 2 4-4
4 2 0 6-4
5 1 2 SD
Match Team A Team B * Team B is down 1 point going into the Sudden Death match.
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2-1 Team B wins the 1st rack making the score 6-7.

4-2 The 2nd rack is needed to determine the winner.

There is still an available point for Team A to win the

6-5 Team Match, since they won 3 out of 5 of the individual matches.



